
8 . FEYNMAN rules for RED

(a) From the considerations in 7 . we can derive the following FEYN MAN rules :
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9. FromY to FEYNMAN rules

[short cut ; a recipe J ·Vertices
① Look for all terms in 2 , which contain -"-eFryAr ig(GAr)Ayexactly the fields of the vertex.

② Replace all derivatives by
= ig(f, As) ATBGyr
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the fields they are acting on

& Sum our all permutations of 8959suASATU
indices and momenta of -xpY -25854Ar
the same external fields + 89sgASAT

④ Eliminate the external fields - it - ieft igla,gartigyand multiply by i.
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①- Determine 2-vertex i(p2- m2) i(P-m)
⑤ Constrat negative inverse
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